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Subject : Mathematics
Class – X
Time : 3 Hours










Max. Marks : 80

General Instructions :

1. All questions are compulsory.

2. The question paper consists of 25 questions divided into three sections A, B and C. Section A contains  

    7 questions of 2 marks each, Section B is of 12 questions of 3 marks each and Section C is of 6 questions of 5   

    marks each.

3. There is no overall choice. However, internal choice has been provided in two questions of two marks each, two

    questions of three marks each and two questions of five marks each.

4. In question on construction, the drawing should be neat and exactly as per the given measurements.

5. Use of calculators is not permitted. However, you may ask for Mathematical tables.
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         The first term of an A.P is 5 and its 100th  term is −292. Find the 50th  term of this A.P.


OR

        Which term of the Arithmetic progression 3, 9, 15, 21… will be 72 more than its 19th  term?
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  6. Calculate the measure of ∠AOC


       B







     O





         A      30º
                                 40º   C
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OR
        Find the probability of getting  53 Fridays in a non – leap year.
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9.    If (x – 2) (x + 3) is G.C.D. of p(x) = (x2 – 3x + 2) (ax2 + 7x + 3) and 

        q(x) = (3x2 + 8x – 3 ) (x2 + bx + 6), find a and b.
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15.   A sum of Rs. 10,815 is to be paid back in 3 equal half yearly instalments. If the rate of interest

         charged is 40/3 % p.a. compunded half yearly , find each instalment.
16.   Find the mass of a hollow metal pipe 4.2 m long whose external diameter is 6 cm and thichness of
        the metal is 1 cm . The density of metal is given by 11 gm / cm3 .
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20.
Ms, Pooja is an executive in an export firm. Her annual income from salaries ( excluding HRA) is 

Rs  5,72,000. She contributes Rs 10,000 per month in her P.F. account, pays  Rs 16,800 as L.I.C. premium and purchases NSCs worth Rs 14,000. She paid Rs 1,60,500 as advance tax. What refund , if any, she will get from Income Tax Department?
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24.
Prove that the degree measure of an arc of a circle is twice the angle 

    x
subtended by it at any point of the alternate segment of the circle with

 respect to the arc.

In the given figure , O is the centre of the circle .

 Prove that ∠x + ∠y = ∠z.
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If you face any problem while solving this paper or at any time during your preparation, you can contact me .
 My mobile no. is  09416365580. Email: ppanujpp@rediffmail.com
Designed by: Mr. ANUPAM GOYAL

B.TECH.

PGT,

INDUS PUBLIC SCHOOL,JIND

HARYANA 126102
Wish you a very Happy New Year, May this new year bring all the joy and SUCCESS in your life.

12.





2.





3.





4.





17. 





18.





25.





10.








-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

